
Omformning av olikheterna ger 

(x − 2) 2 + y2 ≤ 4,  − (x 2 + y2 ) ≤ z ≤ x 2 + y2 .

V = dz
z= −( x 2 + y 2 )

x 2 + y 2

∫
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dxdy
D xy

∫∫ = 2(x2 + y2 ){ }dxdy
D xy

∫∫

 Dxy = (x, y) : (x − 2)2 + y2 ≤ 4{ }

8.6. 



Sätt:
x − 2 = rcos

     y = rsin
 
 
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  Dr :  
r : 0 → 2

: 0 → 2
 
 
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  dxdy = rdrd     

V = 2((2 + r cos )2 + (rsin )2 ){ }rdrd
Dr

∫∫

V = 2 4 + 4r cos + r2{ }rdrd
Dr

∫∫



SVAR:

V = 2π 8r + 2r 3{ }dr
r= 0

2

∫ = 2π ⋅ 4 ⋅ 22 +
24

2

 
 
 

 
 
 

= 48π

Volymen V = 48π.


